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§9.2 IO��Ä�QR©)

½Â. �V ´SÈ�m, α1, · · · , αs´V ¥�"�þ, XJ§�üü��, K¡α1, · · · , αs�

���þ|.

·K. �α1, · · · , αs´���þ|, Kα1, · · · , αs�5Ã'.

y². �
s∑

i=1

kiαi = 0

ü>��þαj�SÈ(j = 1, 2, · · · , s), �

(
s∑

i=1

kiαi, αj) = (0, αj) = 0

,��¡, (
s∑

i=1
kiαi, αj) = kj(αj, αj), Ï�αj 6= 0, ¤±dkj(αj, αj) = 0íÑkj = 0(j =

1, 2, · · · , s). ù`²α1,· · · , αs�5Ã'.
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`². (1) 3n��5�mV¥, üü����"�þØU�Ln �.

(2) XJn��þ�¤�����þ|, K§´n��5�mV ���Ä.

½Â. �V ´SÈ�m, XJα1, · · · , αnüü��, 
�z���þαiÑ´ü �þ, K

¡α1, · · · , αn�V �IO��Ä.

·K. n��þα1, · · · , αn�¤IO��Ä��=�Ý
G = ((αi, αj))n×n´ü 
.

y². dIO��Ä�½Â��íÑ. �ÓÆ��Ñ�[y².
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·K. �V ´��SÈ�m, α1, · · · , αn´V ���Ä, G = ((αi, αj)), éuα =
n∑

i=1
xiαi, β =

n∑
i=1

yiαi,∈ V , -

X =


x1
x2
...

xn

 , Y =


y1
y2
...

yn

 ,

K

(α, β) = XTGY

AO�α1, · · · , αn´V �IO��Ä�,

(α, β) =
n∑

i=1

xiyi

`². Ý
G = ((αi, αj))¡�ÝþÝ
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y².

(α, β) = (
n∑

i=1

xiαi,
n∑

j=1

yjαj) =
n∑

i=1

xi(αi,
n∑

j=1

yjαj) =
n∑

i=1

n∑
j=1

xiȳj(αi, αj) = XTGY

½n.(�.0-��AGram-Schmidt��zL§) �V �SÈ�m, β1, β2, · · · , βm´�5Ã

'��þ|. - 
α1 = β1

αr = βr −
r−1∑
k=1

(βr,αk)
(αk,αk)

αk

Kα1, α2, · · · , αm´���þ|, ¿�

Span{β1, β2, · · · , βm} = Span{α1, α2, · · · , αm}.
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y². ém?18B, �m = 1�, ½nw,¤á.
8Bb�,α1, α2, · · · , αm−1´���þ|, ¿�

Span{β1, β2, · · · , βm−1} = Span{α1, α2, · · · , αm−1}.

d uβ1, β2, · · · , βm−1´ � 5 Ã ' � � þ |, ¤ ±α1, α2, · · · , αm−1� � 5 Ã ', ¤

±(αk, αk) 6= 0, (k = 1, 2, · · · , m− 1), ¤±αm�½Âk¿Â. éuj < m,

(αm, αj) = (βm −
m−1∑
k=1

(βm, αk)

(αk, αk)
αk, αj) = (βm, αj)−

m−1∑
k=1

(βm, αk)

(αk, αk)
(αk, αj)

= (βm, αj)−
m−1∑
k=1

(βm, αk)

(αk, αk)
δjk(αk, αj) = (βm, αj)− (βm, αj) = 0

¤±α1, α2, · · · , αm´���þ|,

Span{β1, β2, · · · , βm} = Span{α1, α2, · · · , αm−1, βm} == Span{α1, α2, · · · , αm−1, αm}.



•First •Prev •Next •Last •Go Back •Full Screen •Close •Quit

íØ. z�n�SÈ�mV ¥, IO��Ä7�3.

y². �{β1 · · · , βn}´V ���Ä, ò{β1 · · · , βn}��z�V �����Äα1, · · · , αn, 2

òα1, · · · , αn ü z, =ξi = αi

‖αi‖, Kξ1, · · · , ξnÒ´V ��|IO��Ä.

íØ. n�SÈ�mV ¥, ?����þ|{α1, · · · , αs}Ñ�*¿¤����Ä.

y². du{α1, · · · , αs}´���þ|, ¤±{α1, · · · , αs}�5Ã', u´d{α1, · · · , αs}�

± * ¿ ¤V � � � Ä{α1, · · · , αs, βs+1, · · · , βn}, ò ù � Ä � � z � � �V � � �
Ä{α1, · · · , αs, αs+1, · · · , αn}.
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íØ. �A´ê�Fþn��_�
, K�3�_�þn�Ý
RÚÝ
Q¦�Q
t
Q = E¿

�A = QR. (¡�A�QR©))

y². �ÄSÈ�mV = Fn, §�SÈ�IOSÈ, Ï�A´�_
, ¤±A���þ
|β1, · · · , βn�¤
V ��|Ä, d��zúª�

α1 = β1

αr = βr −
r−1∑
k=1

(βr,αk)
(αk,αk)

αk
⇒


β1 = α1

βr = αr +
r−1∑
k=1

(βr,αk)
(αk,αk)

αk

�¤Ý
/ª

(β1, · · · , βn) = (α1, · · · , αn)R1

ùpR1 = (bij)

bij =

{
0 i > j
(βj ,αi)
(αi,αi)

i ≤ j

-ξi = αi

‖αi‖ , K

(α1, · · · , αn) = (ξ1, · · · , ξn)diag(‖ α1 ‖, · · · , ‖ αn ‖)
-Q = (ξ1, · · · , ξn), R = diag(‖ α1 ‖, · · · , ‖ αn ‖)R1K

A = (β1, · · · , βn) = (α1, · · · , αn)R1 = (ξ1, · · · , ξn)diag(‖ α1 ‖, · · · , ‖ αn ‖)R1 = QR

¿�Q
t
Q = E
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~. �

A =


1 1 −1 1
1 0 0 −1
0 1 0 −1
0 0 1 1


¦A�QR©)

). �α1, α2, α3, α4 ∈ F4�g´A�11, 2, 3, 4��þ, §��5Ã'. ò§���z

β1 = α1 =


1
1
0
0

 , β2 = α2 −
(α2, β1)

(β1, β1)
β1 = α2 −

1

2
β1 =


1
2
−1

2
1
0



β3 = α3 −
(α3, β1)

(β1, β1)
β1 −

(α3, β2)

(β2, β2)
β2 = α3 +

1

2
β1 +

1

3
β2 =


−1

3
1
3
1
3
1



β4 = α4 −
(α4, β1)

(β1, β1)
β1 −

(α4, β2)

(β2, β2)
β2 −

(α4, β3)

(β3, β3)
β3 = α4 =


1
−1
−1
1


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¤±

α1 = β1

α2 =
1

2
β1 + α2

α3 = −1

2
β1 −

1

3
β2 + β3

α4 = β4

=

(α1, α2, α3, α4) = (β1, β2, β3, β4)


1 1

2 −1
2 0

0 1 −1
3 0

0 0 1 0
0 0 0 1


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òβ1, β2, β3, β4ü z:

η1 =
1√
2
β1 =


1√
2

1√
2

0
0

 , η2 =

√
2

3
β2 =


1√
6

− 1√
6

2√
6

0

 ,

η3 =

√
3

2
β3 =


− 1√

12
1√
12
1√
12
3√
12

 , η4 =
1

2
β4 =


1
2
−1

2
−1

2
1
2


¤±

(α1, α2, α3, α4) = (η1, η2, η3, η4)


√

2 √
3
2

2√
3

2




1 1
2 −1

2 0
0 1 −1

3 0
0 0 1 0
0 0 0 1


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dd�

R =


√

2 √
3
2

2√
3

2




1 1
2 −1

2 0
0 1 −1

3 0
0 0 1 0
0 0 0 1

 =


√

2 1√
2
− 1√

2
0

0
√

6
2 − 1√

6
0

0 0
√

12
3 0

0 0 0 2



Q = (η1, η2, η3, η4) =


1√
2

1√
6

− 1√
12

1
2

1√
2
− 1√

6
1√
12

−1
2

0 2√
6

1√
12

−1
2

0 0 3√
12

1
2


A = QR.
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`². Ý
�QR©)Jø
)�5�§|AX = β��«#�ê�O��{. ¯¢þ

dAX = βÚA = QR, �RX = Q−1β. 
R´þn�
, ù�ÒUé�B/¦Ñ)X .

íØ. �Am×n´�÷�Ý
, K�3��þ|���ü z�m1n�Ý
QÚ�_þn

�
R, ¦�A = QR.

y². �ÓÆ��¤y².

öS1. SK9.2:3,4,5,

öS2. �

A =

 1 −1 2
1 2 0
1 1 2


¦A QR©).
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